Triple M Club
Challenge 10 (A)

Mixture 1
1. b+1=__ 11. 6 =3+
2.l 2+ ___ =6 12.| 7=4+____
3. D+___ = 13. 8=__ +3
4  _  +3:=8 141 9=__ +5
5.| 9=4+__ 15,0 4+___ =10
6.| __ +10=10

/7. 20,__,40,50

8.1 6,8,__,12,14

9.1 ___=Double 4

10.| 6-1-=

Total =




Triple M Club
Challenge 10 (B)

Mixture 1

1. 20,_,40,50 [11.| B0, _ , 30,20
2.1 8,10,___,14 12.1 8,__,4,2,0
3. Doublel=___ |13.| =4x2
4 | 2-1=__ 14, 70f10=___
5. | 6-2=___ 15| 3+3=___
6. 7-4=___

7. 8-5=___

8. 9-2=__

9. ___=10-5

10.| Half6=___

Total =




